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Maths- sharing

There are 12 cubes altogether
There are 2 boxes
There are 6 cubes in each box.

Yes you can share 12 cubes equally between 3 boxes. Each box will have 4 cubes.

24 children in 4 teams:
There will be 6 children in each team.

Another way could be:- 20+5=4

Problem solving

Jack says, Fossible answer :

@

This is what he does;

tens for 20 ones
so they can put
one 10 and 5
ones into each
group.
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| can wark out 40 + 2 " II\ ;] !
easily because | know L1 N | e | |

that 40 is the same as 4
— For 60 + 4 the

children will need
to exchange 2

40+2=20 e e
Is it possible to work cut 80 + 3 in the
same way?
Prove it.

Is it possible to work out 60 = 47
What is different about this calculation?

Handwriting
Is your handwriting improving?

Spellings
No answers needed for today.

Foundation subject — History
Did you use your senses?




